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ANSWERS FOR b.6

For use with pages 295-298

5.6 Guided Practice
2. 2 real; 1 real; 2 imaginary

4. 3orl

-3 + V31
6.
4
8. 4+ 15

10. 17;2real 12. 0; 1 real
14. O; 1 real 16. 0.42 sec

5.6 Practice and Applications
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—24; 2 imaginary

0; 1 real 60. O; 1 real
84;2real 64. 0;1 real
negative

a.c<1l b.c=1

c.c>1
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70. a. ¢c<25 b. c=25
c. c>25
72. a. ¢c<9 b.c=9
c.c>9
74. Sample answer: the initial
velocity substituted into the
formula can be zero.
76. = 1.56 in.
78. = 156.4 ft/sec
80. a. 350 ft/sec; = 1914 ft
b. 21.875 sec
82. B
84. a. maximum height occurs
when ¢t = Yo
32’
3210 ft/sec = v,

b. t = /10 ft/sec = 3.16 sec
Sample answer: If t = 2
sec then v = 32(2)2 =
112 ft/sec

5.6 Mixed Review
86. x<3 88. x<—1
90. x<—4or7<x
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98. y Quiz 2
1 — 8i
. — 4+ ] .
2. 4+ 10i 4 3
92Ty = Il 2 6.-10.
im'agiilmr)%
_T_l : X [2+4i
100. \ / y —3 I I" i :]_.,.
\\ / —4 —1_ 1 real
y=3|x+4|v 1
(_4, 0) 1 I x 3 7 [ )
IRERRET
102. y 6. 5 8. 5
—1
1 X V58 .
~ y:%|X—5|—4 107 12 1i4l
\'/
(5, ~4) 14. -2 + g

16. y = (x — 9)2 — 31

18. —1 + J11
20, 2 XN izl‘ﬁ

22. about 1 sec



